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 Autograph Lesson Plan
Least Squares Regression – a possible lesson plan


	Set up Autograph (which is to be projected to the front board):
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 Open a new 2D Graph page – use Standard Level
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 Edit axes – x from 0 to 12 and y from 0 to 8
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 Choose Equal Aspect – you want squares not rectangles!

The image on the board is now ready for action
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 Student Action – Invite 3 students to place a coloured counter at a point of their choice (suggest integer coordinates!). Note you could use 4 or 5 if you prefer but no more than 5 for a theory lesson – 3 works well.

A brief discussion can then ensue about correlation and, depending on the level the students are working towards; they can be directed to make calculations of estimated line of best fit, correlation coefficient, regression line. 

	Teacher Action – At the computer:
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 Use ‘Point Mode’ to place a point on Autograph at each point chosen by the group

Use the Object Menu to ‘Select All Points’
Use the Object Menu to ‘Convert to Data Set’
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 Select the Data Set then right click and choose the Centroid option

Place a different coloured counter over the Centroid to make it stand out
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 Add another point at some random point in a corner of the graph

	[image: image9.bmp] Select both this point and the Centroid then use the Object Menu to add Straight Line through both points.
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 Ensure ‘snap settings’ are 0.1
[image: image11.bmp] Select the random point which can then be moved – discuss various positions of the line with the group.
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 Select the line and the data set - right click. Choose the option ‘y-on-x Residuals’ and these can be displayed either as lines or (as shown) as squares. Move the line as before discussing the changes in ‘Residuals’ 
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